Mount Lawley Senior High School



YEAR SEVEN
2024

24 917 07 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "B76J" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for FREE no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 15th December 2023.

Orders placed after the 15th December will incur a late fee of \$17.50. Please ensure you allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR SEVEN					
	ENGLISH					
D55540	Novel provided by school					
P55546	Exercise Book A4 64 Page 8mm	1	Ц	1	1.30	1.30
	HUMANITIES & SOCIAL SCIENCES					
P50839	Display Book A4 40 Pocket Insert Cover Red Non-Refillable	2		1	5.45	5.45
P55546	Exercise Book A4 64 Page 8mm	3		1	1.30	1.30
	MATHEMATICS					
	Calculator - Refer to General Stationery Requirements					
P55546	Exercise Book A4 64 Page 8mm	4		4	1.30	5.20
P56353	Protractor 10 cm 180 4" Half Circle	5		1	0.45	0.45
	SCIENCE					
	Calculator - Refer to General Stationery Requirements					
P50839	Display Book A4 40 Pocket Insert Cover Red Non-Refillable	6		1	5.45	5.45
	4.77		_			
D55407	ART	_				
P55467	Document Wallet A3 PP Envelope With Stud	7		1	3.70	3.70
P56081	Marker Artline #200 Black 0.4mm	8		1	3.80	3.80
P56115	Marker Artline #210 Black 0.6mm	9		1	3.80	3.80
P52001	Pencil (2B) Goldfaber	10	Ц	1	0.65	0.65
	TECHNOLOGIES					
P56428	Safety Glasses Clear Wrap Around	11		1	6.45	6.45
	MUSIC					
	Additional resources such as music books and instrumental equipmer	nt may be requir	ed as per ins	strumental pr	ogram req	uirements
	(defer to instrumental specialist as school year commences) Insurance charge paid direct to school (only payable if hiring an	inctrument)				
P52358	Adapter USB-C3.1 to USB A	instrument). 12		1	32.95	32.95
P55442	Display Book A4 20 Pocket Black Refillable	13		1	2.15	2.15
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	14		1	14.95	14.95
		• •	_	•	1 1.00	11.00
D55440	CHINESE					a . =
P55449	Display Book A4 20 Pocket Red Refillable	15		1	2.15	2.15
P55546	Exercise Book A4 64 Page 8mm	16		1	1.30	1.30
	CHINESE GAT					
P55449	Display Book A4 20 Pocket Red Refillable	17		1	2.15	2.15
P55546	Exercise Book A4 64 Page 8mm	18		1	1.30	1.30
	FRENCH					
P50510	Display Book A4 20 Pocket Mid Blue Refillable	19		1	2.15	2.15
P55546	Exercise Book A4 64 Page 8mm	20		1	1.30	1.30
	ITALIAN					
P55446	ITALIAN Display Book A4 20 Bookst Croop Befileble	24		4	0.45	0.45
	Display Book A4 20 Pocket Green Refillable	21		1	2.15	2.15
P55546	Exercise Book A4 64 Page 8mm	22		1	1.30	1.30
	ITALIAN GAT					
P00355	Ecco Uno Activity Book 2E [Trevisan]	23		1	35.95	35.95
P55446	Display Book A4 20 Pocket Green Refillable	24		1	2.15	2.15
P55546	Exercise Book A4 64 Page 8mm	25		1	1.30	1.30

Please tick the items required in the box provided \downarrow

	·		\checkmark	•		
Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
D55440	JAPANESE					
P55442	Display Book A4 20 Pocket Black Refillable	26		1	2.15	2.15
P55546	Exercise Book A4 64 Page 8mm	27		1	1.30	1.30
	KOREAN					
P55443	Display Book A4 20 Pocket Navy Blue Refillable	28		1	2.15	2.15
P55546	Exercise Book A4 64 Page 8mm	29	$\overline{\Box}$	1	1.30	1.30
			_			
	GENERAL STATIONERY REQUIREMENTS					
	IT IS RECOMMENDED THAT ALL STUDENTS STARTING YEAR	7 HA	VE THE F	OLLOWING	G ITEMS	:
	PLEASE SELECT OPTION A OR INDIVIDUAL ITEMS IN OPTION B					
D70000	Option A	00		4	04.00	04.00
P76900	Secondary Stationery Pack COMPLETE SECONDARY STATIONERY PACK WITH REDUCED PRICING	30		1	64.00	64.00
	COMPLETE SECONDARY STATIONERY PACK WITH REDUCED FRICING					
	Retail Price: \$75.00					
	Cost Saving: \$11.00					
	Resource List Special Price: \$64.00					
	OR					
	Option B					
	SELECT INDIVIDUAL ITEMS AS REQUIRED					
P55110	Binder A4 2D Ring 25mm PE Black	31		1	5.35	5.35
P55442	Display Book A4 20 Pocket Black Refillable	32		1	2.15	2.15
P55449	Display Book A4 20 Pocket Red Refillable	33		1	2.15	2.15
P50281	Document Envelope A4 PP With Press Stud Clear	34		1	1.25	1.25
P50694	Document Envelope A4 PP With Press Stud Red	35		1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	36		2	0.40	0.80
P55546	Exercise Book A4 64 Page 8mm	37		4	1.30	5.20
P55551	Exercise Book A4 96 Page 8mm	38		2	1.65	3.30
P51353	Glue Stick 40gm Artline Purple	39		1	2.75	2.75
P51157	Highlighters Pkt 4 Micador ECO	40		1	3.50	3.50
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	41		1	3.80	3.80
P50113	Markers Faber Project Wallet 12 Assorted	42		1	3.45	3.45
P56213	Pencil Case 340x170mm Name Large	43		1	3.40	3.40
P50006	Pencil (HB) Micador Essential	44		3	0.35	1.05
P52001	Pencil (2B) Goldfaber	45		2	0.65	1.30
P56094	Pen Ballpoint Cap Type Black Medium	46		2	0.35	0.70
P56095	Pen Ballpoint Cap Type Blue Medium	47		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	48		4	0.35	1.40
P56329	Pocket Plastic A4 11 Hole Box 100	49		1	7.10	7.10
P56252	Pencils-Coloured 12's Colourush	50		1	4.50	4.50
P56414	Ruler 300mm Plastic Clear	51		1	0.75	0.75
P50161	Scissors 170mm Maped Plastic Handle	52		1	2.30	2.30
P56242	Sharpener Pencil Barrel Double Hole (EL)	53		1	2.10	2.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	54		1	14.05	14.05

Please tick the items required in the box provided \downarrow

 \checkmark

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$		
	ADDITIONAL ITEMS REQUIRED							
	THE ITEMS BELOW ARE NOT IN THE STATIONERY PACK. PL	EASE	SELECT AS	REQUIF	RED			
P55111	Binder A4 2D Ring 25mm PE Blue	55		1	5.35	5.35		
	(Please do not purchase a Lever Arch File)							
P51933	Calculator Abacus Scientific SXIIMATRIXN	56		1	43.95	43.95		
	(ALL students require this calculator - for Maths and Science)							
P55709	Dividers Index A4 5 Tab (Board)	57		1	1.10	1.10		
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	58		1	14.95	14.95		
P50554	File Expanding A4 13 Pocket With Press Clip Green	59		1	19.75	19.75		
	A Diary will be provided free to students at start of year (funded by P&C Association).							
	Number of Boxes ticked:							
	Postage (Home delivery only)		\$0.00					
	ESTIMATED AMOUNT DUE (PRICES CORRECT AT 10/11/23)		\$					